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You are a lawyer!
Your job is to convince the judge anc

Must justify every point with facts :

Properties of equality
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Properties of algebra

Any known property of algebra is true. |

~s)( (e m)

D1str1but1ve Property:
4

How to justify a step in an algebra proof
Consider what changed from the prior st_e'

1. If the changes are all on one side, y
OSimplified Cow b el " '
Cor used Substitution Property
Dor used Distributive Property

2. If the changes are on b
[ldentify the opera-



Example — Pg 90, Example #1
Solve for x and justify each step.

Given: m£ZAOC =139

S
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Solve for x and justify each step.
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Example — Pg 90, Example #1
Solve for x and justify each step.
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Example — Pg 90, Example #1
Solve for x and justify each step.
Given: m£A0C =139

mLAOB+mLBOC=mLAOQfH

X =4 2x+10=139 4



Example — Pg 90, Example #1
Solve for x and justify each step.
Given: m£A0OC =139
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Example — Pg 90, Example #1
Solve for x and justify each step.
Given: m£AOC = 139

mLAOB + mLBOC =ml AOC

x  + 2x+10—SCoNm.



Example — Pg 90, Example #1 A
Solve for x and justify each step.
Given: m£A0OC =139

mLAOB + mdBOC=mLAOC '

x  + 2x+lo—NCrE.

Example — Pg 90, Check Understanding
Fill in each missing reason.

Given: LM bisectsZKLN
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4x=2x+40
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Example — not in the book
Solve for x and justify each step.
Given: 5x — 12 =32 +x

S5x—-12= 329
~

5x=44+x

4x = 44

Example — not in the book
Solve for x and justify each step.

Given: 5x — 12=32 +x

5% — 12=32+x2 Given
5x =44 +x

4x = 44
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Example — not in the book
Solve for x and justify each step.
Given: 5x —12=32 +x
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Example — not in the book
Solve for x and justify each step.
Given: 5x —12=32 +x
5x-12=32+x  Given
S5x =44 +x

4x = 44

Example — not in the book
Solve for x and justify each step.
Given: 5x —12=32+x
sx-12=32+x  Given
Sx =144 (+

4x = 44
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Example — not in the book
Solve for x and justify each step.
Given: 5x —12=32 +x
5x—12=32+x Given
5x =44 +x

4x = 44

Example — not in the book
Solve for x and justify each step.
Given: 5x —12=32+x
5x-12=32+x Given
5x =44 +x (+1- 

4x = 44
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tote—™ 93 stk

Properties of Congruence

Reflexive: / M

AB =~ AB
L4 =24 L 4
Symmetric:

If AB~ CT), then CD~ E |
If£A =~ £B,then £B =~

Transitiv_e: d
IfAB= CD a
If LA = ¢

Example — Pg 91, Check Understanding

Name the property of equality or congru '
_b_ e
a) XY=XY R G?L ‘P '
) fr=X A\t - i
Reflexive Property of Congr ¢

b) If@% an@ mLB

Transitive Property
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Example — not in the book
Name the property that justifies each,-.
a)Ifx =yand y +4 =3x, then x + A

Substitution Prop of Equ it
b) If x +4 = 3x, then 4 = 2x

Subtraction Pra
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Assignment

Pg9l #1-23
27
29
38-41
45-48
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